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On account of death threats, then they are believed

OVERVIEW

The initial version of 11"27 states that (even) if IR DpRn KXY °"nD the 7Y
Wi are believed to claim Mwol nnma 1°°0 2°01R (since it contradicts no
mptn).! Our mpoIN explains why they are not believed to claim nann D°OUK
1 with a »» of MWsl niann 0 01K,

nooIN asks:
- 21)”7! 191912 H%NHN DTN IN 1321 020D 19N 7Y 9NN ON)

And if you will say; and when they said we were 2%uvp or (even) when

they said that we were coerced by monetary threats; in either of these two cases —
= YA NHNNM 1N DITNN YIINRT N2 INNY

They should be believed with a %, for they could have said that we were

MWl nann %N, If they would have claimed mwsl nann 2°01KR they would be
believed (according to this X"17), then they should also be believed (even) if they claim
12757 0°10P Or 1177 111 NN O°01IN.

moon will now prove that (even) the claim of 17n nann 001K is believed when there is a
A (even though they are D YW1 1WHI MWN).
- 411):): NNRNM 13250 DIDNN 1917 BIININI >N NIINT XY NNT

For in the Xw>9 of the m1wn where there is a 1a»; they could have said it is

not our *"n> they are believed to claim that yym» nama 11997 290NN, That
proves that a 22 is effective. N90IN question is that the 1 of Mws1 nann 2°01R should
(also) be effective in the X5°0.

MDDIN answers:
- 5MPaY NY MY HNNM DI0NNT Y Y

And one can say; the reason it is not an effective 131 is because nnm» 2°0uN
nwsl is not common; people do not usually threaten to kill (2°7v) for money. The

' See previous X7 71"7 moon.

? Seemingly Moo question applies to 117 M7y *2109 as well.

? See (7R "W

* This applies to the claim of 117 o°1vp as well. In the Xw™ they are believed since they have a ; they
should be believed in the X5°0 as well, for they have the 1» of NWwo1 nany 0 oK.

> For a 1n to be effective, it is necessary to assume that the claimant could have just as easily used the 3
claim. If however it is easier to use the actual claim than the 2» claim, it is not an effective 1.
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0>7v would not feel comfortable claiming it; therefore it is not an effective .

mooin offers another answer why the 1a» is ineffective:

6:5‘1’\’)"1Q‘Tb NN 1399IN N D1Y 2IVWAT I
And furthermore, we do not utilize a %% concerning two 297 as I
explained previously; the only a that is valid 27y *1w32 is a ypnw w2 °x7 1n.” Every
other 22 is ineffective by two 2°7y.

SUMMARY

The claims of 17 0°1vP or NnM DA O°01IR are not accepted (if X¥» °'"'nd
anx 21Pnn), even with the w2 of MWl Ny D°01K; either because the n is X2
oW, or because there is no *N "2 12 (except for a JpNWw v X7 11).

THINKING IT OVER

1. Why does not mo01n answer his question that (since it is 21n7 XX1°> 27> 2N2

R, therefore) it i1s a 7Y 21PN 1 (as MdOIN answered previously 71"72
8

TR)?!

2. Why did not m»ao1n answer his question that (since it is 21P1n7 XX 27> 2N3

anX, therefore) it is a case of 71 MM (as MdOIN answered previously 7"72
PR)21°

3. Why did not m»oin ask that they should be believed with the 17 of 175
(as Moo previously asked X 7"72)2!"°

6 px 7"7 mooIN.

! According to this answer, the 14 in the Xw"1 is not that they could have claimed it is not our *"n>, but
rather they did not have to appear at all to confirm their signatures.

¥ See 7" w 0" .

? See [TIE] Px "7 'on (on this Tny) footnote # 2.

10 See pavw.
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